210 SREA

m () 21=T,‘c$‘<. (::2"){700& T=21>z°=1)
JRAXm  ti4t+a-3a+4=0 t£t3.
Fa® o 0% v et 2z G 18r0 T30, fé’gl?

b=jr[t)ﬂ)7‘77fa“t>la)§émlt 73 Y, K-k i % S

f(t) o {te2)s a'=3n
CERL 235 k) S o B t-2 75 3T
?» Tinfnadtia.

flnre .0 | fay <o @
n 2RI T,

Y 2 3 -
&1 ch\>=°~3&+1>0 © 231— Qs a>3+f

S fiy= 6%-30<0 & o0<a<? .. @

0o s oA, B (q¢s

S 7((1') 13




2019 £REA
m ()

(a) bn-n = Qe + 4
2Wn+4
Bn+§ 4
(Qn + 24
G+ ¥
6 (bn-4)+24
e
bbuw ) {buw

—— e

o bu + 1 3 Lm‘= bun+t

i}

(b) b('-"t 0D T H Y Ll‘\"on‘ci LE-;-( ¥ 0 fvpS, /'t;;f]tléﬂ-\-ézm A T4 Au*‘o

AP 3 ZE 114357
[ b1 el
b"l-ﬂ r Ebw 3 E(EJ-F {

A8 [ i g I LSS s
x*zfi*‘kli i‘tk%a?ttﬁi'xz";\l.gk TR AR i j.——_?u(i/?‘$

bt 5

(L-1)n- ki
e il
5 Pk ‘:-‘t



2019 SREL

A
We Abszm+2ec =0 &
AL E = THi23 D =
— —_ > —5 -> () B
AP+ 3(AR-AP)+2(AC-AP)=D0 \%r

-3

-~ 3 £/ 3o

Ap= M+ ti= Z(gh+ 3K)

Pla BCz 2:3:hAIIErp etz AT tlrgp335 (aEM)
A

AABD = TAABC , AABP = ZAABD

Y AABP= %f%AABC 2 EIL



2019 STREL

(4) (a)
bloSo hikoftlim 3t dy,
tadt24i B, AaZwhim 4C. 4.
tnSnk sl 3(, A,
B3 2408 B85t ey, 3k, tn kTS5 E T2,
eS| stesit 12
24 q
) hutliadnla © A2 tFC5243. © 3o @Th L3

AL>n RG-¥ Pk 3,

O s 341,

@ =
350 Gy Uht 2LAS & Th3A sLABY
tnd 25340 Fwd 4l
Jva UnSan ki 2(

SB35 0l Bl B
34 |

(e) éf\.giz/gl‘l
FAB ro<alk 288 asr kv
PP 2 e O )
Wit Ea2dVadauw TFhh-X28 LT 2
Fadt. ARaFbSe &3 2d peig<
tlesy R3S (B Eprta)d%n
s Gat-lafe & 08
"
LE M. €em 348% 0
n=1

|- 36 (2"-2) 3 =22
.3"L 3!!.]




2019 %@Et

E‘cn A.C.E.e.l R RB-AfEISY,
AE =EI=IC=C4=GA E"H°S. LhSa FRRARFK
LACR = L CEG=(LEGT =<a1A=LTAC
3%bs bE ACEGT 3 EBATZLY. alon
s 108 ((9%G-2)2y)

St ACT s AC=AT o = 32 = A2 A2
[9o®—(08*

= 3€°
vhy Mk Ert AR EA o fpoukBD Az ¥

AABT, ACBD (=21
ZBAS= [08°— 3(*22=36 ., 4 BCD =[s9 30" 2 =3("

LACT =4 A1C=

s S LBAT=£BCD O

£A3C=zcBp (ABR) @
51 ABAC o7 = 5@ 2 Afis (7 LBAC= £BA) BB AD = (B O
0.0,6) s :@éiﬁb"%bhmz'

A ABJ = A(BD RS

Gy AD=x ¢ &<,
AACE ¢ ACDE anz, 300 A2 T2 830 (AL TR

Liefra AE:AC = CE:=DE P HRXYES,

ST e 98l
= e M-k & 21a-1=0 e 1-—%\1 X>oFHS X = =

(33 C HS AERT3LE éﬁ’m}ézl—lt?;‘ l
AC=AD= x = & , AR = -% E :——‘i f:"z')‘S Cos LCAH = —T—'— J—S:— =8Cas 3

o b [
Swidb =J]- tosSh’ = Z‘;N'ZE

A R 5=

ACIE = folxx esin3f = get—xg Jo2lf ==l
. 5

AADT = 3 Gex)sie3e = £ (B Aok - Lk

. [y
EY¥ 8D = ACTF + aABT + AEDF+A4GFH = “ — l ZE (ﬁ | +7- 3F)x3) 3 ,}\u-lﬁ

AL
W HEAMEE Rz, R oom &Y R=—%§ (s e tas)

N)-—

p

CH= X $in36° Oi=—R— ek
Eﬁléi 0);-&.\21?. ERPs ot

o f8 2 ACIE - aABTx?2 I
o
) . { 2 2 =gt ot T ’r‘:"z
LLE 3y f’%éil? i ESCh_oH (ACIF—QAABJ) o ik ) 7t - °

2 (2




2019 SBEL

8 )Cl—1)=L3(—x+J?EZ)
f(x)+§(—1)={p3(1+m—) [‘j(l ,tz_'_a) (A_g(’( x*q) =°,jd

)Cm % fwd = [oga
R g I e 5:(>)= L;(z—e x’ﬂ)

)('(X)"'

:(0\) ~ -"(X*‘) 7:).)\

l
\]')l-”

22
DC+J_"— AE ZJ_f‘-T():

-3
(5 1) ;Sx"-e(
foy1m i%lt EBa fus @ 9 iF 2182033,

Foim x<o T E Do T R tHIar ][(Ml? x>0 7 Ly x<o T R ]
{txy=0 ¥HhIanl =0 Tayr? f'(o)

(Yo A S .y) =(o, fe)) = (v.0) #“Sﬁ.’.;.
T7720k Ral 302033

l\‘j
X o
l\J(H‘wF')""""' : ‘F’ = 7 )
. §7 DINS ot o8
e 3 B B B A
(0.0) /
lin S0 =200 (434148

' f)
(3) \/1=‘(07C‘jzd>( Vz=j° Rlld‘)

\LJ‘:[/Dj(X‘l-IE—() &Y C3=I+ 1| & eS—I Sl 6 oy

F 2 9__ -Y Yy -Y
Arfc e -me’- | e P i dx _ e’s¢
2 oy 2
[

fo
V'=J-°7E-szd1= go lﬂz 9

- < (Fo
c_:’e-—dv = ;.J° jt(eb'f'e—h)dy
<1 gﬁ’@-’%”)@ = yle’-e)- sz e%-e¥)ay = y(eLe) -2y(e%e”)+ zfehe”dj
- "Jz(ef’- "3 ').3(e3+e"’)4— 22t ae=l i g (y*-2y +2)e5+(_32—2y —a)ed+
tehS fm-oz‘c?cu (%= 1g)
2 el
Vit (3 2y 420804 (-y —2y —2)‘-’51 = ((d’:-20(+2)((+&)+(-9-2_‘7“2) 1+E)

= n(« )

(E’-(' e 9)2 T . -2Y (8 -2y
gT’- 7 E _S° E dj= ;S‘e”’\uue ol_j"?,[ C+23—-— l=—0_ o)

%', =-%:((—§%)) =25 ~d) =2[T-2 lag (&)



